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Enfwasserungsabschnitt 1
Bau-km 0+037 - 0+378

Entwasserungsabschnitt 2
Bau-km 0+378 - 0+908

Bauwerk 01

Unterfihrung
Rad- und Gehweg Muhlenholz

Bau-km 0+111

Bauwerk 02 Bauwerk 03

Unterfihrung Unterfihrung
lhme An der Bauerwiese

Bau-km 0+427 Bau-km 0+756

Bau-km 0+908 - 1+215

Entwasserungsabschnitt 3

Entwasserungsabschnitt &
Bau-km 1+215 - 1+479

Fahrtrichtung Ost

Entwdsserungsabschnitt 6
Bau-km 1+800 - 14926

Entwasserungsabschnitt 5
Bau-km 1+479- 1+800

Bauwerk 04
Unterfihrung

Bau-km 0+998

Hemminger Maschgraben

Bauwerk 05

Unterfuhrung
Leineflutmulde

Bau-km 1+342

Entwasserungsabschnitt 7
Bau-km 14926 - 2+280

Bauwerk 06

Unterfihrung
Leine

Bau-km 1+867

Entwasserungsabschnitt 8
Bau-km 2+280 - 2+548

Entwasserungsabschnitt 9
Bau-km 2+287 - 3+468

Enfwasserungsabschnitt 10
Bau-km 3+200 - 3+470

Entwasserungsabschnitt 11
Bau-km 3+470 - 3+784 .35

Bauwerk 07

Tunnel

Hildesheimer Strafle

Enfwasserungsabschnitt 12
Bau-km 3+784.35 - 4+330

KeW = 92,48 gon LW =500 m KeW = 6474 gon LW = 10.00 m Krw = 1000 gon LW = 800 m KrW = 8333 gon LW = 8,00 m KrW = 100.0 gon LW = 24260 m KrW = 83333 gon LW = 104.65 m Bauckn 2+490-34290
BzG = 2685 m LH 2250 m BzG = 25,60 m LH > 050 m iber HW 100 BzG = 25,60 m LH2 380 m BzG = 2560 m  LH =500m BzG = 25,60 m LH > 250 m BzG = 25,60 m LA = 250 m u-Km Z+4390-3+
MLC = 50/50-100 KH =050 m MLC = 50/50-100 KH = 0.70 m MLC = 50/50-100 KH = 0,70 m MLC = 50/50-100 KH = 0,70 m MLC = 50/50-100 KH=215m MLC = 50/50-100 KH = 2.00 m L = 800.00 m
H = 16648 m H = 7200 m H = 3200 m
H = 14791 m H = 20000 m H = 1111 m
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